‘SEAT NO. : SUPERVISOR SIGN.:

UNIVERSITY OF MUMBAT’S
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
DIPLOMA IN FOREIGN TRADE MANAGEMENT
(DFTM)
ENTRANCE EXAM

DATE: 04-JUL-16 TIME : 11.00AM TO 12.00 NOON MARKS : 50

I:IOTE: 1) MOBILE PHONE / CALCULATOR NOT PERMITTED IN THE EXAMINATION HALL

P—————

2) TICK MARK THE CORRECT ANSWER, EACH QUESTION CARRIES ONE MARK.
3) THERE IS NO NEGATIVE MARKING

1. Who is India’s Finance Minister
a) Narendra Modi
b) Rajnath Singh
c) Arun Jaitely
d) Baba Ramdeo
2. What is Upper House of Indian Parliament known as
a) LokSabha
b) VidhanSabha
c¢) VidhanParishad
d) RajyaSabha
3. Who is Supreme Commander of Indian Armed Forces
a) Prime Minister
b) Defence Minister
¢) Home Minister
d) President of India
4. What is the Capital of Puducherry
a) Trivendrum
b) Shillong
c) Aizwol
d) Puducherry
5. Which is national bird of India
a) Crow
b) Sparrow
c) Parrot
d) Peacock
6. Where is Tirupati town located
a) Telangana
b) Seemandhara
c) Karnataka
d) Kerala

7. Mount Everest is in which country
a) India
b) China
¢) Nepal
) Bhutan



8. River Narmada originates from
a) Gangotri, Uttarakhand
b) Vindhya Ranges, UP
c) Amarkantak, Madhya Pradesh
d) Thalkaveri, Karnataka
9. TajMahal is located at

a) Talasari
b) Lucknow
¢) Aurangabad
d) Agra
10. Capital of Tripura is

a) Shillong
b) Kohima
¢) Agartalla
d) Gangtok

11.1f each of FIVE Dogs ran 3.27Kms, then how much distance all FIVE Dogs
covered:
a) 15 Kms
b) 16.25 Kms
c) 15.45 Kms
d) 16.35 Kms

12.What is UGDFTM

a) Under Graduate Degree in Foreign Trade Maths

b) Under Graduate Diploma in Foreign Trade Management
¢) Upper Grade Diploma in Forest Training Management
d) None of the above

13.Look at this series 2, 1, (1/2) , (1/4).... What number should be next ?
a) (1/3)
b) (1/6)
c) (1/8)
d) (1/16)
14.What will be next three numbers in the series 1, 3, 6, 10, 15,21, 28 ..........
a) 36, 45, 55
b) 34, 44, 54
c) 33, 38,44
d) 32,37,42



15 Choose correct word in the following analogy
Doctor : Patient : : Politician : ??
a) Voter
b) Chair
c) Money
d) Public

16 .Ignorance : Education : ; Disease : ?7?

a) Hospital -
b) Doctor
¢) Medicine
d) Nurse

17 .Car: Road : : Train : ??

a) Station
b) Track
¢) Signal
d) Driver

18. Number 457834 in words is
a) Forty Five Seventy Eight Four Thousand
b) Four Lac Fifty Seven Hundreds Four
¢) Four Lac Fifty Seven Thousand Eight Hundred Thirty Four
d) None of the above

19. The most densely populated State in India is?
A) West Bengal

B) Bihar

C) Uttar Pradesh

D) Maharashtra

20. Guwahati is situated on the bank of the river?
' A)Narmada
B) Brahmaputra
" C) Hooghly
D) Teesta



21, Food crops comprise:

A Cotton, Tobacco, Sugarcane
B) Linseed, Castor, Turmeric
C) Food grains, Pulses, Edible oil seeds
) Jute, Cotton, Chillies

22. The total of the ages of Amar, Akbar and Anthony is 80 Years. What was total of
their ages 3 years ago ? ?

71 Years
72 Years
74 Years
77 Years
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23. What is the product of all numbers on a Telephone Dial ?

a) 1,58,480
b) 1,58,490
¢) 1,59,490
d) None of the above

Find the odd one out: in the following:
24.
a) Mother
b) Brother
¢) Friend
d) Father

25.

a) Cow
b) Bull
c) Horse
d) Hen

26.
a) Maharashtra
b) Kerala
c) Assam
d) Hyderabad
27.

a) Apple

b) Orange

¢) Mango

d) Lady Finger (Bhindi)



28.
Anexpress train traveled at an average speed of 100 km/hr, stopping for 3 minutes after
every 75 km.. How long did it take {0 reach its destination 600 km from the starting point?

a) 6 Hrs 30 Mis, (b) 6 Hrs 45 Mis, (¢) 6 Hrs 50 Mis, (d) 6 Hrs 21 Mts

A train 360 m long is running at a speed of 45 kimv/hr. In what time will it pass a bridge 140
m long?

(a) 40 Sec, (b) 45 Sec, (¢) 50 Sec, (d) 55 Sec

30.
A train 150 m long is running at a speed of 90kmph. Time taken by the train to cross a tree

is
(a) 5 Sec, (b) 5.5 Sec, (c) 6 Sec, (d) 6.5 Sec)

31.
if 30% of a number is 12.6, find the number?

(a) 45, (b) 38, (c) 40, (d) 42

32.
A shopkeeper purchased 200 bulbs for Rs. 10 each. However, 5 bulbs were fused and

had to be thrown away. The remaining were sold at Rs. 12 each. What will be the
percentage profit?

(a) 13, (b) 15, (c) 17, (d) 22

33.
What is 50% of 40% of Rs. 3,4507

(a) 690, (b) 670, (c) 580, (d) 570
34.
Twenty women can do a work in 16 days. Sixteen men can complete the same work in 15
days. What is the ratio between the capacity of a man and woman?

(@) 3:2,(b)4:3,(c)5:3,(d)3:4
35.
A takes 3 days and B takes 2 days to do a work. . Both worked together and finished the
vork, and got Rs.150. What is the share of A ?

{a) 90, (b) 60, (c) 50, (d) 80

Gy,



36. In the last ONE DECADE, which one among the following sectors has attracted
highest Foreign Direct Investment (FDU) flow in India

{a) Chemicals

(b) Service Sector

(c) Food Processing
(d) Telecommunication

37. Devaluation of Currency means ,

(a) reduction in the value of a currency vis-a-vis major internationally traded currencies
(b) permitting the currency to seek its worth in the international market
(c) fixing the value of the currency in conjunction with the movement in the value of a
basket of pre-determined currencies
(d) fixing the value of currency in multilateral consultation with the IMF, the World Bank
and major trading partners
38. Depreciation means

(a) closure of a plant due to lock out

(b) theft of item

(c) loss of equipment due to fair wear and tear
(d) loss of equipment due to heavy rains

39. India adopted DECIMAL System of coinage in the year

(a) 1955
(b) 1957
(c) 1959
(d) 1961

40. What is the perimeter of a regular hexagon if the length of one side is 5 Mtr

(a) 25 Mtr
{(b) 30 Mtr
(c) 35 Mitr
(d) 40 Mtr

41. Mumbai’s Eastern Free Way is from
(a) Chembur to Santacruz
(b) Sion to Mankhurd

(c) Chembur to CSTM
(d) Bandra to Sahar



42. The brain of any Computer system is

{ay ALU

(b) CPU

{¢) Conitrol Unit
{(d) Memory Card

43, Mumbai is known as

(a) Financial Capital of India
(b) Film City of Asia

(c) Knowledge City of India
(d) Mango city of Maharashtra

44. In which Stadium Sachin Tendulkar made his 100 th Century

(a) Chepuk, Chennai

(b) Shere Bangla Stadium, Mirpur
(c) Shere Bangla Stadium , Dhaka
(d) Firoz Shah Kotala, Delhi

45. Foreign Trade can be between
(a) India , Pakistan and China

(b) India, Asia and America

(c) With any country of world

(d) With Nepal, Bhutan and Sri Lanka

46. The sum of 4589 + 32169325 +654120076 + 0.00789509 is

(a) 698657826
(b) 696293991
(c) 696284991
(d) 696299491

47. Euro Football 2016 is being played in

(a) Germany

(b) Russia

(c) France

(d) England

(e) None of the above




48. Corporate office of Garware Industryis located at

(a) Delhi
by Mumbai
{c) Pune
(d} Nagpur

49. India’s First President was

(a) Dr V VGiri

(b) Dr S Radhakrishnan
(c) Dr ZakirHussain

(d) Dr S D Sharma

(e) None of Above

50. Mumbai University is
(a) More than 150 Years old
(b) Less than 150 Years old

(c) 100 Years old
(d) 50 Years old.
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SEAT NO. : SUPERVISOR SIGN.:

UNIVERSITY OF MUMBAI’S
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
DIPLOMA IN FOREIGN TRADE MANAGEMENT
(DFTM)
ENTRANCE EXAM

2. U
DATE: 13- 0L 16 TIME : 11.00AM TO'12.00 NOON MARKS : 50

NOTE: 1) MOBILE PHONE / CALCULATOR NOT PERMITTED IN THE EXAMINATION HALL

2) TICK MARK THE CORRECT ANSWER, EACH QUESTION CARRIES ONE MARK.
3) THERE IS NO NEGATIVE MARKING

1. India’s Foreign Trade is between
a. Maharashtra, Gujrat, UP and Delhi
b. All States of India
c. India and Pakistan
d. Any nation of World
2. Foreign Trade is for:
a. Sale of Goods
b. Purchase of Goods
c. Payment of money
d. (a)and (b)
3. Foreign Trade is done for
a. Good relations
b. Helping other nation
c. To show our Strength
d. None of the above

4. Write 13986198.98 in WORDS

5. Tick the correct answer
7.87 x49=

A. 36.156
B. 38.563
C. 351.56
D. 361.56
6. Choose the correct alternative that will continue the same pattern and replace the
question mark ? ?in the given series.

3, 3, 5,5, 10,10, ??, ??, 40, 40, 80, 80, 160, 160

A.15,15 B.35,35
C.20, 20 D.45, 45



7. If an object travels at five feet per second, how many feet does it travel in one hour?

(a) 30, (b) 300, (c) 720, (d) 18000

In the following , which word does NOT belong with the others?

8. (a) Tyre, (b) Steering Wheel, (c) Engi“ng3 SB Family

9. (a) Tree, (b) Leaf, (c) Dust, (d) Root - B

10. (a) Horse, (b) Goat, (c) Cow, (d) Parrot

11: (a) Road, (b) Bridge, (c) Foot Path, (d) River

12. (a) India, (b) Nepal, (c) Bhutan, (d) Kerala

13. Look at this series: 7, 10, 8, 11, 9, 12, ... What number should come next?
(@) 7, (b) 10, (c) 12, (d) 13

14. Look at this series: 36, 34, 30, 28, 24, ... What number should come next?
(a) 20, (b) 22, (c) 23, (d) 26

15. Look at this series: 58, 52, 46, 40, 34, ... What number should come next?

(a) 26, (b) 28, (c) 30, (d) 32

Which of phrases given below each sentence should replace the phrase printed in bold
type to make the grammatically correct? If the sentence is correct as it is, mark 'E' as the
answer.

16.

The small child does whatever his father was done.

A.has done B.Did

C.Does D.had done

17.

The man to who | sold my house was a cheat.

A.to whom | sell ' B.to who | sell
C.who was sold to D.to whom I sold

E.No correction required

18.

| need not offer any explanation regarding this incident - my behaviouris speaking itself.
A.will speak to itself B.speaks for itself

C.has been speaking D.speaks about itself

E.No correction required

19.

The members of the RajyaSabha are elected by
A.the people

B.LokSabha

C.elected members of the legislative assembly
D.elected members of the legislative council

@



In the following statements which argument is correct ?

20. Statement: Should India encourage exports, when most things are insufficient for
internal use itself?
Arguments:

(@ Yes. We have to earn foreign exchange to pay for our imports.
(b)  No. Even selective encouragement would lead to shortages.

21. Statement: Should India make efforts to harness solar energy to fulfil its energy
requirements?
Arguments:

(@ Yes, Most of the energy sources used at present is exhaustible.
(b)  No. Harnessing solar energy requires a lot of capital, which India lacks in.

MARK THE CORRECT ANSWER IN THE FOLLOWING:
22. Odometer is to mileage as Compass is to :

(a) Direction, (b) Speed, (c) Needle, (d) Hiking

23. Elated is to despondent as enlightened is to:

(a) Aware, (b) Ignorant, (c) Miserable, (d) Tolerant

24. Optimist is to Cheerful as Pessimist is to :

(a) Gloomy, (b) Mean, (c) Petty, (d) Helpful

25. If opening stock = Rs. 2,45,000; purchases = Rs. 15,00,000; sales = Rs. 17,40,000
and rate of gross profit = 20% on cost of goods sold, then the closing stock would be at—
(A) Rs. 3,53,000 (B) Rs. 2,95,000 (C) Rs. 2,45,000 (D) Rs. 1,95,000

26. 139 + 235 =

A) 372 B) 374 C) 376 D) 437
27. 139 - 235 =

A) -69 B) 96 C) 98 D) -96
28. (5 x 16)+(93-83) +(4.89-.72) =

A) 93 B) 90.79 C) 94.17 D) 94
29.45/9 =

A) 4.5 B) 4 C)5 D)6
30. 15% of 300 =

A)20 B) 45 C) 40 D) 35
31. (5690+8709+3465) / (43287-34538)

A)2.07 B) 2.17 C) 2.27 D) 2.37

0
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A. Garwarelnstitue of Central Education

B. Garware Industrial Centre for Engineering Design

C. Garware Institute of Career Education and Development
D. Goregaonlstitute of Cricket Education

33. High Tide occurs on

a) Dark Night

b) Full Moon Night
c) First Day of Month
d) Last Day of Month

34. Duration of Foreign Trade Management Course is

a) One Year

b) Eighteen Months
¢) Two Years

d) Thirty Months

35. In a recently conducted referendum in UK, Britain has decided to :

(a) Remain in European Union (EU)
(b) Quit EU

(c) Undecided

(d) None of above

36. Euro 2016 Football Championship is being played in

(a) Russia
(b) lreland
(c) France
(d) Germany

37. Sikkim is in

(a) China

(b) India

(c) Bhutan

(d) Or Independent Country

38. Mithi River is in

(a) Pune
(b) Kolhapur
(c) Solapur
(d) Mumbai



39. IPL is for

(a) Indian Prize League
(b) Indian Premier League
(c) Indo Pak League

(d) Indian Practice Lawn

40. IPL 2016 Final match was played between
(a) SRH Vs Ml /

(b) SRH Vs RCB

(c) RCB Vs DD

(d) DD Vs MI

41. Milkha Singh is
(a) Athelete

(b) Cricket Player
(c) Kabaddi Player
(d) Leader

42. Dr Rajendra Prasad was India’s--
(a) Prime Minister

(b) Defence Minister

(c) Home Minister

(d) None of the above

43. The language spoken in Karnataka is
(a) Telugu

(b) Tamil

(c) Kannad

(d) Bhojpuri

44. Ludhiana is situated on River
(a) Ganga

(b) Yamuna

(c) Godavari

(d) Satlyj

45. MedhaPatkar is associated with
(a) SardarSarovar Project

(b) Enron Project

(c)Tehri Project

(d) Dabhol Project

46. KiranBedi is

(a) First women IPS Officer

(b) First women IAS Officer

(c) First Lady Army Officer

(d) First women Hockey Player



47. Bhusawal is famous for
(a) Oranges

(b) Banana

(c) Potato

(d) Mangos

48. Siachin is in
(a) India

(b) China

(c) Pakistan

(d) Nepal

49. Full form of BARC is

(a) Baba American Research Centre

(b) Bhabha Agriculture Research Centre
(c) Bhabha Atomic Research Centre

(d) None of the above

50. Republic day of India is on
(a) 15 August :

(b) 02 October

(c) 14 November

(d) 26 January
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SEAT NO. :
UNIVERSITY OF MUMBAI
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
DIPLOMA IN FOREIGN TRADE MANAGEMENT
(DFTM)
ENTRANCE EXAMINATION

DATE: 09-Jul-15 TIME : 11.00AM TO 12.00 NOON ~ MARKS:50

NoTg'~ Answer by ticking on correct Answer. Each Question carries ONE Mark. Total Marks 50.
There is no NEGATIVE Marking for this Test

1. You earn Rs 15000/- per month. You spend Rs 1000/- on Snacks, Rs 600/- on your friends, Rs
3700/- you give to your parents, Rs 600/ for your Sister’s School Fees, Rs 988/- for your
travel, Rs 2100/- you deposit in India Co Op Bank Ltd. What is the PERCENTAGE of your
income which you spend per month.

A.67.5 B.46.5
C.60.6 D.53.0

2. Write 13986198.98 in WORDS

3. Tick the correct answer

7.86x46=
A. 36.156
B. 36.216
C. 351.56
D. 361.56

4. Three people who work full-time are to work together on a project, but their total time on the
project is to be equivalent to that of only one person working full-time. If one of the
people is budgeted for one-half of his time to the project and a second person for one-
third of her time, what part of the third worker’s time should be budgeted to this project?

A. 13.3%
B. 35.2%
C.16.7%
D.18.7%

5. In the following number series mark the correct number for ?

3,10, 101,?

A.10101 B.10201

C.10202 D.11012

6. Choose the correct alternative that will continue the same pattern and replace the question
mark ?in the given series. ~
2,3,3,5,10,13,2,43,172, 177

A.23 B.38

C.39 D.40

Following is only for example. Questions 7 to 8 are to be solved

% Arrange the words given below in a meaningful sequence.

T 1.Key 2.Door 3. Lock



4. Room 5, Switch on

Answer & Explanation

Answer: Option C

Explanation:

The correct order is :

Key Lock Door Room Switch on

13 2 4 5

7.
Arrange the words given below in a meaningful sequence.

1. Word 2. Paragraph 3. Sentence
4. Letters 5. Phrase

A4,1,523 B.4,1,3,5,2
C4,2,51,3 D4,1,5,3,2
8.

Arrange the words given below in a meaningful sequence.

1. Poverty 2. Population 3. Death

4, Unemployment 5. Disease

A2,3,4,5,1 B.3,4,2,5,1
€.2,4,1,5,3 D.1,2,3,4,5

9.

A train running at the speed of 60 km/hr crosses a pole in 9 seconds. What is the length of the
train?

A.120 metres B.180 metres

C.324 metres D.150 metres

10.
Two, trains, one from Howrah to Patna and the other from Patna to Howrah, start

simultaneously. After they meet, the trains reach their destinations after 9 hours and 16 hours
respectively. The ratio of their speeds is:

A2:3 B.4:3

C.6:7 D.9:16



H

For which of the following disciplines is Nobel Prize awarded?
A.Physics and Chemistry

B.Physiology or Medicine

C.Literature, Peace and Economics

D.All of the above

12.
Exposure to sunlight helps a person improve his health because
A the infrared light kills bacteria in the body '
B.resistance power increases
- C.the pigment cells in the skin get stimulated and produce a healthy tan
D.the ultraviolet rays convert skin oil into Vitamin D

13.

India's first Technicolor film___in the early 1950s'was produced by
A.'Jhansi Ki Rani', Sohrab Modi

B.'Jhansi Ki Rani', Sir Syed Ahmed

C.'"Mirza Ghalib', Sohrab Modi

D.'Mirza Ghalib', MunshiPremchand

14.

India has largest deposits of _in the world.
A.Gold

B.Copper

C.Mica

D.None of the above

Which of phrases given below each sentence should replace the phrase printed in bold type
to make the grammatically correct? If the sentence is correct as it is, mark 'E' as the

answer.

15.

The small child does whatever his father was done.

A.has done B.did

C.Does : D.had done

16.

The man to who I sold my house was a cheat.

A.to whom I sell B.to who I sell
C.who was sold to D.to whom I sold

E.No correction required

17.
I need not offer any explanation regarding this incident - my behaviouris speaking itself.
A.will speak to itself B.speaks for itself



18.

The members of the Rajya Sabha are elected by
A.the people

B.Lok Sabha

C.elected members of the legislative assembly
D.elected members of the legislative council

19.
The national anthem was written by
A.Bankim Chandra Chatterjee
B.Rabindranath Tagore
C.Sarat Chandra Chatterjee
D.JawaharLal Nehru

20.

The members of Lok Sabha are
A.directly elected by the people
B.indirectly elected

C.Nominated

D.partly elected and partly nominated

21. v

'Ashoka Chakra' is awarded for

A.acts of gallantry in the presence of enemy
B.gallantry by children

C.outstanding contribution to literature

D.the most conspicuous@lﬁ;ravery or self sacrifice on land, air or sea but not in the presence of the
enemy

22, The winning team in IPL 2015 scored

A. 298 Runs
B. 374 Runs
C. 198 Runs
D. 202 Runs

23. Most popular field game in World is
A. Cricket
B. Kho Kho

C. Football
D. Rugby

417



24. Major Dhyan Chand was a player of

A. Basketball
B. Kabadd;
C. Hockey
D. Football

25. India’s Foreign Trade is between

A. Pakistan and Myanmar and Bhutan ,

B. USA, UK, France, Africa and Australia

C. China, South Korea, Germany and Swiss Bank
D. With countries in all the Continents

26. The name of continents in the world are

A. South East Asia, Gulf, Africa, Siberia, Antarctica and Europe

B. Asia, Africa, Great Russia, USA, EU and China

C. Asia, Africa, N America, S America, Antarctica, Australia and Europe
D. All above (A,B,and C) is WRONG.

27. BEST in Mumbai is
a) Brihanmumbai Electricity Supply and Transport
b) Bright Electric Supply and Tourism
c) Brothers Engineering Service and Trading
d) None of above
28. Eastern Freeway Road is between
A. Mankhurd to Mazgaon
B. Chembur to Bandra
C. Govandi to Vashi
D. Deonar to Dadar
Write the correct answer of the questions given below:
29. Nagpur is part of which region of Maharashtra?.....c.cccoovcviiiniiinccnnnn
30. Capital Of ASSEM iS..uvrivereeverrrnererccrerencrrrns e eresnesreseseseorssesenns
31. Full form of MMRDA is.......cccou.e.

32. Defence Minister of India is from Goa, what is his NaMe........ceviveiiinrecsenee e e

33. Sugar is Made froMu. e e sescenes

34, Which is the most popular game in rural Maharashtra......c..cccconvnvcccnncnnns
35. Value of  [{15+98+23+07+19) / (13+476445)] X 2.3 iSuervicerrcrnrvcrernenns

36. Governor of Maharashtra is ... inescsncresenencsninnes

37. Ramabai Tower is located at.......ccoceeveevnerinecrrnnnens Gresesreesernrenons

38. Mumbai Metro Rail has been made by

39 Why should countries trade?
A. To help them to thrive in economy
B. To increase happiness
C. To satisfy voter

s/



D To please President

40, An economy thal trades freely with others is known as:
A Open,

B. Free,

C. Developed,

D. Advanced

41. A business that has operation in more than one country is known as:

A. Open Firm,

B. Multinational,
C. Conglomerate
D: Diversified Firm

42. A student studies “Foreign Trade Management” to become
A. For Foreign Travel,

B. To become Foreign Minister,

C. To learn hasics of Foreign Trade Management,

D. To learn Foreign Language

43. Who can take admission in “Foreign Trade Management” Course:

A. TY B. Com Pass student
B. Engineering student

C. Chartered Accountant
D. HSC pass student

44, Who is Foreign Minister of India:

A. Salman Khurshid
B. Ashok Chavan
C. SushmaSwaraj
D. R P N Singh

45.1f TWO is FOUR, FOUR is EIGHT then EIGHT will be

A. TEN
B. SIXTEEN
C. TWENTY
D. ZERO

48. Gadhchiroli District is in:

A. Andhra Pradesh
B. Madhya Pradesh
C. Maharashtra
. D. Rajsthan

47. Mountain Everest is in;
A. China

B. India
C. Nepal

é/¥



D0 Tibet
48, A student is CUTSTANDING i he is

A. Topper in Class

B. isa greatl sporisperson

C. ls very good in all fields ie Sports, Studies, Dramatics, Behaviors efc
D. Is very good singer

49.
Which country among the following is a developing country?
A. India :
B. Japan
C. France
D. Sweden
50.

Which country among the following is a developed country?
A.  Pakistan
B. SriLanka
C. India
D. England



7  JGDPFTM

UNIVERSITY OF MUMBAI
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
ENTRANCE EXAMINATION
BiPLQMA IN FOREIGN TRADE MANAGEMENT (DFTM)

SEAT NO.

DATE - 04/07/2014 TIME : 11.00 AM TO 12.00 NOON MARKS : 50

@ Tick mark the correct answer: Each Questlcm carries ONE Mark
1. India’s Foreign Trade is between
a. Mabharashtra, Gujrat, UP and Delhi
b. All States of India
c¢. India and Pakistan
d. Any nation of World

2. Foreign Trade is for:
a. Sale of Goods

b. Purchase of Goods
c. Payment of money -
d. (a)and (b)

3. Foreign Trade is done for
a. Good relations

b. Helping other nation
c. To show our Strength

d. None of the above

4. 3 pumps, working 8 hours a day, can empty a tank in 2 days. How many hours
a day must 4 pumps work to empty the tank in 1 day?

A9 B.10
C.11 D.12

5. 39 persons can repair a road in 12 days, working 5 hours a day. In how many
days will 30 persons, working 6 hours a day, complete the work?

A.10 B.13
C. D.15

6. Ifa quarter kg of potato costs 60 paise, how many paise will 200 gm cost?

A.48 paise B.54 paise
C.56 paise D.72 paise
m



Read the each sentence to find out whether there is any grammatical error in it. The error, if
any will be in one part of the sentence. The letter of that part is the answer. If there is no
error, the answer is 'E'. (Ignore the errors of punctuation, if any

7.
A. Nitin's nephew, who lives
B. in Bangalore, is eager to travel to
C. Delhi to have
D. a glimpse of the capital.
E. No error.
8. .. .
A B.give him anything what he
- His father promised to
C. wants if he D.passes in the examination.
E. No error.

Write the correct word in the blank space
9. The pencils and paper svasesses on your desk.
(a) to be '
(b) is
(c) are
(d) be

10. Driving to work in a car is much .cucsas than riding a bicycle.
(a) faster
(b) fast
(c) fastest
(d) more faster

11.139 + 235 =

A) 372 B)374  C)378 D) 437
12.139-235 =

A) -89 B) 96 C) 98 D) -98
13.5x16 =

AY8O  'B)86 cys8 - D)78
14.45/9 =

A) 4.5 B) 4 C)5 D) 6
15. 15% of 300 =

A)20 B) 45 C) 40 D) 35



16. %2 + Vax 3/4 =

AY3/8 8)13/8 Cyg/6 3) 3/4

Find the next number in the series

7.
4 . 8 ’ 16 - 32 ] -
A)48 ) B)o6d Cy40 D) 46 '

18. Find the next number in the series

4’ 8 12 20 —
A)32 B) 34 C) 36 D) 38

19. Find the missing number in the series

54 49 e 39 34
A)47 B) 44 C)45 D) 46

20. Find the first number in the series

- 19 23 29 31
A2 B) 15 . O16 D) 17

Write correct answer from the choice given:

21.4500 x ? = 3375
A.2

B.3

c. 1

D.3

E. None of these

22. The price of 10 chairs is equal to that of 4 tables. The price of 15 chairs and 2 tables
together is Rs. 4000. The total price of 12 chairs and 3 tables is:

A.Rs. 3500 ’ ‘

B. Rs, 3750

C. Rs. 3840

D. Rs. 3900

23. The captain of a cricket team of 11 members is 26 years old and the wicket keeper is 3
years older. If the ages of these two are excluded, the average age of the remaining players
is one year less than the average age of the whole teamn. What is the average age of the
team?

A. 23 years

B. 24 years

C. 25 years

D. None of these



24, The sum of ages of 5 children born at the intervals of 3 years each is 50 years. What is
the age of the youngest child?

A. 4 years

B. 8 years

C. 10 years

D. None of these

25. A fruit seller had some apples. He sells 40% apples and still has 420 apples. Originally,
he had:

A. 588 apples-

B. 600 apples

C. 672 apples

D. 700 apples

26. Some articles were bought at 6 for Rs. 5 and sold at 5 for Rs. 6. Gain percent is;
A. 30%

B.331%

C. 35%

D. 449,

27. A sum of money is to be distributed among A, B, C, D in the proportion of 5: 2 : 4 : 3. If
C gets Rs. 1000 more than D, what is B's share?

A. Rs, 500

B. Rs. 1500

C. Rs. 2000

- D. None of these

28. A starts business with Rs. 3500 and after 5 months, B joins with A as his partner. After a
year, the profit is divided in the ratio 2 : 3. What is B's contribution in the capital?

A. Rs, 7500

B. Rs. 8000

C. Rs. 8500

D. Rs. 9000

29. If 6 men and 8 boys can do a piece of work in 10 days while 26 men and 48 boys can do
the same in 2 days, the time taken by 15 men and 20 boys in doing the same type of work
will be:

A. 4 days

B. 5 days

C. 6 days

D. 7 days

30. A train 125 m long passes a man, running at 5 kmph in the same direction in which the
train is going, in 10 seconds. The speed of the train is:

A. 45 km/hr

B. 50 km/hr

C. 54 km/hr

D. 55 km/hr

- 31. Population wise INDIA in world is
A. Fourth largest
B. Tenth Largest
C. Second Largest
D. None of the above



32. Sri Pranb Mukherjee is
A. Congress Party Leader

8. Defence Minister of india
C. President of india

D. Professor of Finance

33. Football World Cup 2014 is being held in
A, Germany

B. Argentina

" C. Brazil

D. England

34. Two States have been carved out of Andhra Pradesh, These are
A. East Andhra and West Andhra

B. Andhra Old and Andhra New

C. Hyderabad State and Vizag State

D. Seemandhra and Telangana

35. GICED is

A. Garware Institue of Central Education

B. Garware Industrial Centre for Engineering Design

C. Garware Institute of Career Education and Development
D. Goregaon Istitute of Cricket Education

36. High Tide occurs on

a) Dark Night

b) Full Moon Night

c) First Day of Month
d) Last Day of Month

37. Duration of Foreign Trade Management Course is

a) One Year

b) Eighteen Months
c) Two Years

d) Thirty Months

38, Highést Gallantry Award IS

a) Vir Chakra

b) Mahavir Chakra
¢) Param Vir Chakra
d) Sena Medal

39. Depriciation of any Machine is

2

Loss of Machine due to fair wear and tear with time
Loss of Machine due to fire
Loss of Machine due to flood

o

) Due to theft of Machine
)

o

)
)

j=1

®



40, Gadhchiroliis in

al Kerala

by Uttar Pradesh
¢} Maharashtra
d} Punjab

Write the correct answer for the following statements below the question:.

41 Which organ in our body filters blood?

42. How many planets are there in our solar system?

43. The "Theory of Relativity" was developed by.....

44, Mumbai havé got how many Express Highways?

45. What travels lighter and faster than anything? Is it light or sound waves?
46. The study of plants is called...?

47 A shape with 8 sides is called what?

48. The "Theory of Evolution" was developed by whi;h naturalist?

49. An invisible force is responsible for holding us on Earth. This force helps us from falling

off.

50. What is this force called? What is the name of the continent where the Sahara desert is?

*****************************************
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Answer by ticking on correct Answer. Each Question carries ONE Mark

o

1. In the first 10 overs of a cricket game, the run rate was only 3.2. What should be the run
rate in the remaining 40 overs to reach the target of 282 runs?
A.6.25 B.6.5
C.6.75 D.7

2.

A grocer has a sale of Rs. 6435, Rs. 6927, Rs. 6855, Rs. 7230 and Rs. 6562 for 5 consecutive
months. How much sale must he have in the sn(th month so that he gets an average sale of

Rs. 65007

A.Rs. 4991 B_.Rs. 5991
C.Rs. 6001 B : D.Rs. 6991
3.

The average weight of 8 person's increases by 2.5 kg when a new person comes in place of
one of them weighing 65 kg. What might be the weight of the new person?

A.76 kg B.76.5 kg
C.85kg D.Data inadequate -

E.None of these

4.

The average weight of 16 boys in a class is 50.25 kg and that of the remammg 8 boysis 45.15
kg. Find the average weights of all the boys in the class. _

AA4755kg . B4Ske
C.48.55kg D.49.25 kg

5. Who receives Dronacharya Award?

A Scientists

B. Cinema Actor

G . Sports Coaches
D. Politician

6. Which from the following rivers does not originate in Indian territory?
(1) Mahanadi

(2) Brahmaputra

(3) Ravi

(4) Chenab A



7. With which game is the Agha Khan Cup associated?
(1) Foothall

(2) Badminton

(3) Basketball

(4) Hockey

8. The term, L.B.W. is associated with which of the following games?
. (1) Cricket

(2) Hockey

- (3) Football

(4) Polo

9. Wankhede stadium is situated in?
(1) Chandigarh

(2) Bangalore

(3) Mumbai

(4) Chennai

10. The Olympic games are normally held at an interval of
(1) 2 years
(2) 3 years
(3) 4 years
(4) 5 years

11. JaspalRana is the name associated with which of the following games?
(1) Boxing

(2) Shooting

(3) Archery

(4) Weight lifting

12. Netaji Subhash National Institute of Sports is located at
(1) Kolkata

(2) New Delhi

(3) Jhansi

(4) Patiala

13. A person wants to contest election for the membership of Gram Panchayat, what should
be his age?

(1) 18 years or above

(2) 19 years or above

(3) 21 years of above

(4) Minimum 25 years -

14. Population wise India is World’s biggest country
A. True
B. False



15. Who is India’s Home Minister
A. Sushil Kumar Shinde

B. L K Advani

C. Pranab Mukherjee

D. Rajnath Singh

16. Mumbai is called India’s
A. Financial Capital

B. Film Capital

C. Youth’s Capital

D. Knowledge Capital

17..20 % of 2 is equal to

A. 20
B. 4
C.04
D. 0.04

18. Warehousing means :
A. House where we stay
B. Place where goods are stored
C. Place where vessel discharges goods
D. Allare correct.

19. Unit of measurement for measuring warehouse space?
Square feet

Square meter

Inches

All are correct

anoow

20. Union Budget is presented in Parliament by:
a. Commerce Minister
b. Prime Minister
¢. Industry Minister
d. None of these

21. The national sport of India is:

a. Cricket
b. Hockey
c. Judo

d. Football

22. Mumbai central to New Delhi by rail;distance Km is?

a. 1386
b, 1400
c. 1500
d. 1000



23. For which of the following disciplines is Nobel Prize awarded?
a. Physics and Chemistry
b. Physiology and Medicine
€. Literature, Peace and Fconomics
d. All of the above.

24. SCLR in Mumbai is
A. SantacruzChembur Link Road
B. SionChunabhatti Light Road
C.  SaharChembur Lotal Route
D.  SionCharkop Linking Road

25. Thumb is to hand & Toeis to~

a. Mouth
b. leg

C. Finger
d. feet

26. The central bankingb functions in India are performed by the

a) Central Bank of India
b) Reserve Bank of India
¢) State Bank of India

d) Punjab National Bank

27. In the last one decade, which one among the following sectors has attracted the highest
foreign direct investment inflows into India?

a) Chemicals other than fertilizers
b) Telecommunication

¢) Services sector

d) Food processing

- 28. Depriciation of any Machine is

a) Due to theft of Machine

b) Loss of Machine due to fair wear and tear with time
¢) Loss of Machine due to fire

d) ~Loss of Machine due to flood

29. Gadhchiroliis in

a) Kerala
b) Uttar Pradesh
¢) Maharashtra
) Punjab



30. Who is Police Commissioner of Mumbai
A. Rakesh Singh

B. Satpal Singh

C. 5 Krishna Rat

D. Rakesh Maria

31 2+4is 6 then 5+7 is
AG

B.21

C. 12

D None of above.

In each of the following questions, there is some relationship between the two terms to left
of:: and the Same relationship continues between the two terms to its right. Also in each
question, one term either To the right of:: or to the left of it is missing. This term is given as
one of the alternatives given below Each question. Find out the missing term.

322B:F::E:...........

A)H B)T

C)I D)J
33.BDF:GIK ::PRT :.................

A)UVW , B)UVZ

C)uUwy D)UWX
34.Sky : Ground : : Ceiling : ...............

A.)Road B.) Ground

C.) Floor . D.) None

35. If opening stock = Rs. 2,45,000; purchases = Rs. 15,00,000; sales= Rs. 17,40,000 and rate
of gross profit = 20% on cost of goods sold, then the closing stock would be at—
(A)Rs. 3,53,000 (B) Rs. 2,95,000
(C) Rs. 2,45,000 (D) Rs. 1,95,000

36. Which number logically follows this series: 4-6-9-6-14-6 - ...
Al 6 | |
B. 17
C. 19
D. 21

G



a) Prithvi Raj Chavan
b} SushmaSwaraj
¢} Narendrai\/lodf
d) Salman Khisrshid
38. Which js the largest Neighbori’rzg Country of indis
aj Pakistan
b) Nepal
. ¢) Bangla Desh
d} Ching

39. BEST in Mumbai js

a) Brihanmumbai Ei
b) Bright Elec
c) Brothers g
d) None of ab

ctricity Supply and Transport
tric Supply and Tourism

gineering Service and Trading
ove

40. Easterp Freeway Road is between
A Mankhurg to Mazgaon

B. Chembuyr to Bandra

C. Govandi to Vashi

D, Deonar to Dadar

41. Ratnagirj s part of which region of Maharashtra?

42. Capital of Nagaland is...

43. Full form of BARC s

.....

44, Governor of Maharashtra is

45. Sugar s Made from, .

[(15+98+23+O7+19) /(13+76445)] x 2.3is.....

48. Vice Chancellor of Mumbaj University is....Dr.....

49, Ramabhaj Tower js located at...
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Answer by ticking on correct Answer. Each Question carries ONE Mark

1. You earn Rs 15000/~ per month. You spcnd Rs 1200/~ on Snacks, Rs 5 OO/~ on your friends,
Rs 3500/ you give to your parents, Rs 800/~ for your Sister’s School Fees, Rs 1000/~ for
your travel, Rs 2100/- you deposit in India Co Op Bank Ltd. What is the PERCENTAGE
of your income which you spend per month.

A.67.5 B.6.5
C.60.6 D.91.0
2.

A grocer has a sale of Rs. 6435, Rs. 6927, Rs. 6855, Rs. 7230 and Rs. 6562 for 5 consecutive
months. How much sale must he have in the sixth month so that he gets an average sale of

Rs. 65007

A.Rs. 4991 B.Rs. 5991
C.Rs. 6001 D.Rs. 6991
3.

The average weight of 8 person's increases by 2.5 kg when a new person comes in place of
one of them weighing 65 kg. What might be the weight of the new person?

A 76 kg B.76.5 kg

C.85kg D.Data inadequate

E.None of these

4,

The average weight of 16 boys in a class is 50.25 kg and that of the remaining 8 boys is 45.15
kg. Find the average weights of all the boys in the class.

A.47.55 kg B.48 kg

C.4855kg ' D.49.25 kg

S.Arjuna Award is given to?

A . Scientists

B. Cinema Actor
C .Sports person
D. Farmer

6. Which from the following rivers originate in Indian territory?
(1) Mahanadi

(2) Saryu

(3) Ravi

(4) Chenab

@



(S} All of these

7. With which game is the Subrato Cup associated?
(1) Football

(2) Badminton

(3) Basketball

(4) Hockey

- 8. The term, Deuce. is associated with which of the following games?
(1) Cricket
(2) Lawn Tennis
(3) Football
(4) Polo

9. Chepukstadium is situated in?
(1) Chandigarh

(2) Bangalore

(3) Mumbai

(4) Chennai

10. The Olympic games are normally held at an interval of
(1) 2 years
(2) 3 years
(3) 4 years
(4) 5 years

11. Major Dhyan Chand is the name associated with which of the following games?
(1) Boxing '

(2) Shooting

(3) Hockey

(4) Weight lifting

12. Netaji Subhash National Institute of Sports is located at
(1) Kolkata : '
(2) New Delhi

(3) Jhansi

(4) Patiala

- 13. A person wants to contest election for the membership of Gram Panchayat, what should
be his age?
(1) 18 years or above
(2) 19 years or above
(3) 21 years of above
(4) Minimum 25 years

14. Population wise India is World’s biggest country
A. True
B. False

15. Who is India’s Home Minister



A. Sushil Kumar Shinde
B. L K Advani

C. Pranab Mukherjee
D. Rajnath Singh

16. Mumbai is called India’s
A. Financial Capital

B. Film Capital

C. Youth’s Capital

D. Knowledge Capital

17. 20 % of 4is equal to

A. 20
B. 4
C.0.8
D. 0.04

18. Warehousing means : _
A. House where we stay
B. Place where goods are stored
C. Place where vessel discharges goods
. D. Allare correct.

19. Unit of measurement for measuring warehouse space?
Square feet

Square meter

Inches

All are correct

oo oo

20. Union Budget is presented in Parliament by:
a. Commerce Minister '
b. Prime Minister
c. Industry Minister
d. None of these

21. NCRis

a. National Capital Region

b. National Chemical Research
c. Nao Car Research

d. Natural Coal Reserve

22. Mumbai Central Railway Station isin
' a. Central Railway
b. Southern Railway
c. Western Railway
d. Konkan Railway



23. For which of the following disciplines is Nobel Prize awarded?
a. Physics and Chemistry
b. Physiology and Medicine
¢. Literature, Peace and Economics
d. Al of the above.
24, SCLR in Mumbai is
A. SantacruzChembur Link Road
B. SionChunabhatti Light Road
C. SaharChembur Local Route
D. SionCharkop Linking Road

25. Thumb is to hand & Toe is to —

a. Mouth
b. leg

¢. Finger
d. feet

26. Correct spelling of CONSTITUTON is
a) CONSTUTION
b) CONTITUTION
c) CONSTITUTION
- d) None of above

27. In the last one decade, which one among the following sectors has attracted the highest
foreign direct investment inflows into India?

a) ' Chemicals other than fertilizers
b) Telecommunication

c¢) Services sector

d) Food processing

28. Depriciaﬁon of any Machine is

a) Due to theft of Machine

b) Loss of Machine due to fair wear and tear with time
c) Loss of Machine due to fire

d) Loss of Machine due to flood

29. Gadhchiroli is in

jo3]

) Kerala

) Uttar Pradesh
)} Maharashtra
) Punjab

o0 o

30. Who is Police Commissioner of Mumbai
A. Rakesh Singh



B. Satpal Singh
C. Sri Krishna Rai
D). Rakesh Maria

31,1 2+4 is 6 then 5+7 is
ALY

B.21

ci2

D None of above.

In each of the following questions, there is some relationship between the two terms to left
of:: and the Same relationship continues between the two terms to its right. Also in each
question, one term either To the right of:: or to the left of it is missing. This term is given as
one of the alternatives given below Each question. Find out the missing term.

32.B:F::Bio..
A)H B)T ,
C)I D.)J
33.BDF: GIK : : PRT : coovvcnnnn
A)UVW B.) UVZ
C)UWY D.) UWX

34. Sky : Ground : : Ceiling : ...............

A.) Road | B.) Ground

.C.) Floor D.) None

35. If opening stock = Rs. 2,45,000; purchases = Rs. 15,00,000; sales = Rs. 17,40,000 and rate
~ of gross profit = 20% on cost of goods sold, then the closing stock would be at-
(A) Rs. 3,53,000 (B) Rs. 2,95,000 s -
(C) Rs. 2,45,000 (D) Rs. 1,985,000

36. Which number logically follows this series: 4 -6 -9 -6 -14-6 - ...
A B
B. 17
C. 18
D. 21

37 . Who is Foreign Minister of India

a) Prithvi Raj Chavan



38.

39.

40.

b} SushmaSwaraj
¢} NarendraModi
d}  Salman Khurshid

Which is the largest Neighboring country of India

a) Pakistan
)

-b) Nepal
¢} Bangla Desh
d) China

BEST in Mumbai is

[sY]

) Brihanmumbai Electricity Supply and Transport
) Bright Electric Supply and Tourism

o

Brothers Engineering Service and Trading

e

)
) None of above

Q.

Eastern Freeway Road is between

A. Mankhurd to Mazgaon

B. Chembur to Bandra

C. Govandi to Vashi

D. Deonar to Dadar

Write the correct answer below the question:

41.
42.
43.
44,
45.
6.
47.
48.
49.

50..

Nagpur is part of which region of Maharashtra?

Capital of Assam is...

Full form of MMRDA is.....

Governor of BIHAR is from Maharashtra, what is his name......
Sugar is made from...

Whiéh is the most po;ulér gamein rufal Mahara;htré...
Value of  [(15+98+23+07+19) / (13476+45)] X 2.3is.....

Vice Chancellor of Mumbai University is.....Dr.....

Ramabai Tower is located at...

Mumbai Metro Rail has been made by...
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Note: Answer to all questions on the Question Paper itself. -

- 10.

11.

12.

13,

14.

15.

16.

DIPLOMA FOREIGN TRADE MANAGEMENT
ENTRANCE EXAM

L.
2. Place a tick mark or circle the selected answer.

Where in your body is your patella Knee?
(a) it's the kneecap, (b) Foot, {c) Wrist, (dy Arm

Where can you find London Bridge today? , '
(a) USA ( Arizona ), (b) London (UK), (c) Sao Paulo (Brazil), (d) Cork (Ireland)

What spirit is mixed with ginger beer in a Moscow mule?
(a) Whisky. (b) Vodka, (c) Gin, (d) Soda. ‘ )

Who was the first man in space?
(8) Yuri Gagarin, (b) Vasco d agama, (c) Neil Armstrong, (d) none of these.

What would you do with a Yaéhmak? i S
(@) Take a Ride, (b) Wear it - it's an Arab veil, (c) Use as table cloth, (d) none of these.

Who betrayed Jesus to the Romans?
(a) Judas Escariot, (b) Romeo, (c) Robin Hood, (d) None of these.

Who starred as host for TV Show Kaun Banega Karorpati (KBC)?
(@) Amitabh Bachhan, (b) Shahruk Khan, (c) Govinda, (d) Salman Khan.

Whose nose grew when he told a lie?
(a) Pinocchio, (b) Dorremon, (c) Batman, (c) None of these.

What in business terms is the IMF? .
(a)\lnternational Monetary Fund, (b) Indian Mutual Fund, (c) None of these.

Which country grows the most fruit?

(@) I‘"hdia, (b) Thailand, (c) China, (d) New Zealand
Which.company is owned by Bill Gates?- S
(a) Microsoft, (b) IBM, (c) Apple, (d) Lenovo - s

What type of acid is used in car batteries _
(a) Sulphuric, (b) Nitrogen, (c) Hydrogen, (d) Water.

-What is classified by the A B O.system?

(a) Blood Groups, (b) Computer languages, (é) Nuclear Groups, (d) None of these. .

Which country do Sinolbgists study? .
(a) China, (b) Myanmar, (c) South Korea, (d) Bhutan.

What was the capital of Ethiopia? )
(a) Addis Ababa, (b) Jima, (c) Dire, (d) None of these.

What‘f;s the largest state in the USA
(a) Washington DC, (b) New York, (c) Alaska, (d) Chicago



17.
18,
19,
- 20.

21.

22.
23
24.
25.
26.
27.
28.
29.
30.
31.
32.
33
34.

35.

Whose autobiography was "The long walk to Fmedom ?
{a) Nelson Mandela, (b) Mahatma Gandhi, (c) Su Ki Min, (d) None of these.

Wh‘ich chess piece could be a member of the church?
{a) Pawn, (b) Bishop, (¢) Queen, (dy Horse.

Vhat is the national flower of India?
{a) Lotus, (b) Sunflower, (¢} Rose, {d} Lily

What animals name translates as water horse? _
(a) Hippopotamus, (b) Crocodile, (dy Sea Horse, (d) Whale.

What links Brazil, Uruguay, Mozambiqpe and Angola?

(a) Colonies of Portugal, (b) Colonies of French, (c) Colonies of Anglo Indians, (d) None.
What is the capitol of Morocco?

(a) Rabat, (b) Istanbul, (c) Algiers, (d) Addis Ababa.

What digit does not exist in Roman Numerals?
(a) Zero. (b) One, (c) Two, (d) Four.
[ '

What linked Armenia, Georgia, Latvia and Moldavia?
(a) USSR, (b) Mongolia, (c) China, (d) None.

Which countries men use the most deodorant?
(a) India, (b) China, (c) Korea, (d) Japan.

What was the first credit card?
(a) Cm Bank, (b) Diners Club, (c) Times, (d) ICICI.

Where is the world’s largest gold depository Federal reserve bank’7
(a) Manhattan, (b) Zurich, (c) Munich, (d) Amsterdam.

What is 6 inches bigger in summer?
(a) Kutub Minar, (b) Taj Mahal, (c) Eiffel Tower, (d) Great Wall of China.

Which country has the smallest birth rate?
(a) Vatican City, (b) Germany, (c) Portugal, (d) Greece.

Which country was the first to introduce old\«age pensions?
(@) Germany, (b) France, (c) England, (d) Ireland.

What is the name of the Mumbai stock exchange
(a) BSE, (b) MCX, (c) NSE, (d) NIFTY. '

What is a baby whale called? . B

(a) Calf, (b) Foal, (c)‘ Baby, {d) None.

Which bird turns it head upside down to eat?
(a) Pigeon, (b) Crow, (c) Flamingo, (d) Swan.

What sport links Castle Cup, Red Stripé Cup, Ranji Trophy?
(a) Hockey, (b) Badminton, (c) Cricket, (d) Football.

What countries leader does not have an official residence?
(a) England, (b) Cuba, (c) France, (d) Portugal.



36. A JPEG is a picture file format - what does JPEG stand for?
(a) Joint Photographic Experts Group, (b) Joint Parliamentary Expats Group, (¢) None.

37 What is the world’s largest sea (in area)?
(a) Indian Ocean, (b) South China, (c) Atlantic Ocean, (¢) Arabian Ocean.

38. YWhich islands wildlife is 90% unique?
(a) Botswana, (b) Madagascar, (c) Kenya, (d) Ghana,

39. USA has most roads what country has second most?
_(a) India, (b) China, (c) Brazil, (d) Russia.

40. What county'has the largest army in the world?
(a) USA, (b) Brazil, (c) China, (d) England.

41. Guru Nanak founded which religion?
(a) Sikhism, (b) Buddhism, (¢} Hinduism, (d) Christianity.

42. What-color is Octopus blood?
(a) Red, (b) green, (c) Blue, (d) Yellow.

43. What is the National Bird of India?
(a) Peacock, (b) Parrot, (c) Sparrow, (d) Kingfisher.

44, Which metal is the best conductor of electricity?
(a)\ Gold, (b) Silver, (c) lron, (d) Aluminum.

45. What country do Brazil nuts come from?
(a) Brazil, (c) Venezuela, (c) Bolivia, (d) Cuba.

46. Which country invented French fried potatoes?
- (a) France, (b) Belgium, (c) England, (d) None.

47. What head of Government was the first to give birth in office?
(a) Benazir Bhutto —Pakistan, (b) H Kholl, Germany, (c) Margret Thatcher — England, (d)

None.

48. The word bungalow comes from which language Hindi
(a) India, (b) Thailand, (c) China, (d) New Zealand.

49. What was the first country to leave the United Nations?
(a) Vietnam, (b) CamAbodiva, (c) Indonesia, (d),Chir_\a,

50. What is a travelator? _
‘ (a)\Ljft, (b) Horizontal Escalator, (c) Crane, (d) None of these.




| 9 F : M SEAT NO. :

UMBAL
CATION & DEVELOPMENT
AANAGEMENT

Y OF M

ENTRANCE EXAM

DATE:26-Jul-13  TIME : 11.00 AM TO 12.00 NOON MARKS : 50
' Answer all the Qi:estions; Tick the Correét AnsWér. Fach Question is fornONE Mark. v A

1. Foreign Trade is conducted between

a) Two States of india

b) Two Countries of Asia

¢} Two neighboring countries

d} Betweenany country of the world

2. Which Ministry of Govt of India deals with Foreign Trade

a) Home Ministry

b) Defence Ministry

¢} Human Resource Ministry

d) Commerce and Trade Ministry

3. Foreign Trade is done for

a) Gold Ornaments
b) Sugar

¢} Vehicles

d) For all above items

* 4. Reason'out: if A+B = E+F, then M+N =

‘a) UV
b) Q+R
¢} W+X
d} C+D

5. The numbenafter 21 in the series of 1,3,6,10,15,21.... Will be

6. Who is Foreign Minister of India

a) Prithvi Raj Chavan

b} Mulayam Singh Yadav
¢} Narendra Modi

d) Salman Khurshid -

7. Which is the largest Neighboring country of India

Pakistam

oow

)

) Nepal

) Bangia Desh
} China

o]

Q.



- 8. BEST in Mur‘nbai is

) Brit ianmu mbai Electricity ouppky and Transport
y Brig h%; Electric Su ipply and Tourd
¢} Brothers Engineering Service and Tfadmg

)

Norne of above

}  Goenka Institute of Custom Engineering and Dispatch
b) Guru India Chamber of Education and Development
¢} Garware Institute of Career Education and Development
) All of above

10. First settlers in Mumbai were

} Parsi’s
) Britishers

o g o5

} French -
) Koli's

L O

11. Mumbai University was established in the Year

) 1900
) 1937
) 1857

) 1947

oo

[«R

12. Chief Minister of Maharashtra is.

a) Ashok Rao Chavan

b) Narayan Rane

c) Prithvi Raj Chavan
- d) Sushil{(gmarshinde

13. If 24242 is 6, then 8+9+10 will be

a) 24
b) 27
S ¢ 30
d) 33

14. Correct spelling of CONSTITUTON is

a) CONSTUTION

b) CONTITUTION_

¢) CONSTITUTION
)

d) None of above

15. The Centralﬁbanking functions in India are performed by the

a) Central Bank of India
b) Reserve Bank of India
c) State Bank of India

d) Punjab National Bank

by



16. In the last one decade, which one among the following sectors has attracted the highest
foreign direct investment intlows into India?

a) Chemicals other than fertilizers
b) Telecommunication
) Services sector

d) Food processing

[

17. Depriciation of any Machine is

j+3)

) Due to theft of Machine )
) Loss of Machine due to fair wear and tear with time

o

Loss of Machine due to fire

c)
) Loss of Machine due to flood

joX

18. Gadhchiroliis in

) Kerala

b} Uttar Pradesh
) Mahar\aﬁhtra

d} Punjab

19. ‘Objective of Foreign Trade Management Course is

a) Toimpart knowledge about Foreign Trade

b) To prepare student for Foreign Service

c) To preparestudent to start foreign business
“d) To prepare student to start Visa service

20. Chartered Accountant Course can be done by

a) "Commerce Student
4 b) Science Student
c) Arts Student
d) Any Student
L.
21. The length of Eastern Freeway from Chembur to near CST is approximately

¥

) 07 Kms
) 09 Kms
) 13 Kms
) 18 Kms

Q. o o

22. Harbour Line Local Train in Mumbai runs between

) CST té Panvel and back

) Panvel to Andheri and back
)} Vashi to Thane and back

} Al of the above ’

o 0O oDbow

23. What is the cost paid by students for mid day meal given in Primary Schools
a) Rs5/-perday
b) Rs 10/- per day
c) Rs 100/- for one month
d) Itisfree of cost



24.

25.

26.

27.

28.

29.

Cellular jailis in
a) Daman Diu

J

p—

)
} Tripura
) Laksh Dweep
Y
/

e O

d} Andaman Nicobar

Lo

Television service of Govt of India is known as

25

) Akashvani
). Chitrahar sada Bahar

{3

¢} Doordarshan

(=X

) Govt Television
Who is President of India

}  Smt Pratibha Patil
}  Smt Sonia Gandhi
)

23]

(=3

Shri LaluPrasd Yadav
Shri Pranab Mukherjee

C

joR

Leh Laddakh is in

a} Assam

b) Bihar

¢) Jammu and Kashmir
d) Tamil Nadu

India became republic on

a). 15 August 1947
b) 09 Aug 1944
c) 26Jan 1950
d) 15 Nov 1960

“I Promise to Pay the bearer...” written on Indian Currency note is signed by

a) President of India

 b) Prime Minister of India

30.

31.

¢) “Army Chief

d} Governor, Reserve Bank of India -

Administrative Head of a District is known as

)} Police Commissioner

) District Magistrate / Collector
} "Chief Medical Officer

) Member of Parliament

[ T R = pl o)

Brahmaputra River flows through

) West Bengal

) Andhra Pradesh
) Assamu ..

) Odisha

QO oW



32

34,

35

36.

37.

. The currency of United Kingdom is known as

a) Dollar

)
b)

o

Yen

jo N

¢} Pound
Vo Dirham

3. Biggest Milk Co Op business in India is run by

} Mahanand
) Mother Dairy
Amul Dairy

O T

)
) Reliance

j=S

Sachin Tendulkar started Test Cricket carrier at the age of

) 16 Yrs
) 18 Yrs
) 20Yrs
) 21Yrs

Q.0 oo

If4X4is16,5X5is 25,7 X 7 is 49 then what is 9 X 9

a) 64
b) 81
c) 91
d) None of above

Numeral 123456 of Arithmetic in words is

a) One Two Three Fodr Five Six

b) One Lac Twenty Three Thousand Four Hundred Fifty Six
c) Twelve Thirty Four Fifty Six

d) NoneofAbove

One MiUion is

) Ten Thousand
) One Lac

)} Ten lac-

)

o oUW

-+d)- Hundred Lac

38.

30,

The Presiding Officer of Lok Sabha is known as

a) Chairman
b) - Head Master
c) Speaker

d) Controller

Highést Mountain Peak in world is

a) Mount Titlis

b) Mount Kaiiash

Mount Everest
Mount\lﬁanchanjangha



40.

41

42.

43.

44.

45.

46.

a7.

(=X

Shaniwar Wada, Seat of power of Peshwa’s is in
7 p

a) Aurangabad
b} Nashik

¢} Pune

d}  Nagpur

. Jaslok Hospital is located in

Q)

a) South Mumbai
} North Mumbai
) Eastern Suburb
} Central Mumbai

jo RN e

Horse Race Course of Mumbai is popularly known as

a) Horse Racing Ground

b) Mahalaxmi Race Course
¢} Ghoda Running Maidan
d) None of Above

Bhabha Atomic Research Centre (BARC) is located in

a) Dadar
b) Chembur
¢} Vasai \
d) Panvel

Ramabai Clock tower is in

o

) BMC building

) ‘Mumbai University, Fort
) I Hospital '
) Navy Nagar, Colaba

o o

Tobacco can be cause of

a) Mouth Cancer
b) Chest Cancer

¢} Tongue Cancer ‘
d)

All of Above
-

Name of Movie on Milkha Singh is

) Milkha Singh Hero

) Wah re Milkha Wah -
") Bhag Milkha Bhag

}  Fauzi Milkha Bhaga Milkha

(o ST =

High Tide occurs on

-

) Dark Night

) Full Moon Night
)

)

el

o

¢} First Day of Month

Last Day of Month

Q.



48, Duration of Foreign Trade Management Course is

Y

a; One Year

b) Fighteen Months
¢} Two Years

d} Thirty Months

49, This Years Dada Saheb Phalke Award was given to

o

} Manoj Kumar

}- Amitabh Bachhan
) Pran

). Rajesh Khanna

Q. O o

50. Highest Gallantry Award is

) Vir Chakra

) Mabhavir Chakra

) Param Vir Chakra
} Sena Medal

o O T oW

*******************************f***#*******



DFTR SEAT NO. -

UNIVERSITY OF MUMBAI
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
DIPLOMA IN FOREIGN TRADE MANAGEMENT
THIRD ROUND
ENTRANCE EXAM

DATE : 19-Aug-13 TIME : 11.00AM TO 12.00 NOON MARKS : 50

- Answer all the Questions. Tick the correct Answer. Each Question is forrONE Mark.

1. Warehousing means :
A. House where we stay
B. Place where goods are stored
C.  Place where vessel discharges gooils
D. Allare correct.

2. Unit of measurement for measuring warehouse space?
A. Square feet
B. \Square meter
C. Inches
D. Allare correct

3. Union Budget is presented in Parhament by:
A. . Commerce Minister
B. Prime Minister
-C. Industry Minister
D. None of these

" 4. The national sport of India is:
' A. Cricket

B. Hockey

C. Judo

D.  Football

5. Mumbai central to New Delhi by rail; distance is?

A. 1386
B. 1400
~'C. 1500
D. 1000

6. For which of the following disciplines is Nobel Pnze awarded?
A. Physics and Chemistry
B. Physiology and Medicine
C. literature, Peace and Economics
D. Al of the above,

7. Foreign Trade is conducted between
Lo

) Two States of india

o o

)} Two Countries of Asia
) Two neighboring countries
)} Between any country of the world

je RN o)



Lo

8, Which Ministry of Govt of India deals with Foreign Trade

o8]

3} Home Ministry
Defence Ministry

o

¢} Human Resource Ministry
) . Commerce and Trade Ministry

jo

9. Foreign Trade is done for

)} Gold Ornaments

} Sugar

) Vehicles

) For all above items

a

o o o

10. Reason outy if A+B = E+F, then M+N =

a) U+v
b), QR
¢) W+X
' d) C+D

11. The number after 21 in the series of 1,3,6,10,15,21.... Will be

25
31
28
29

e 2

2oz e

" 12. Who is Foreign Minister of India

_Prithvi {(aj Chavan
Mulayam Singh Yadav
NarendraModi
Salman Khurshid

o=z e

13. Which is the largest Nefghboﬁng country of india

a) Pakistan

) Nepal
¢) BanglaDesh
d} China

o

14. BEST in Mumbai is

) Brihanmumbai Electricity Supply and Transport
) Bright Electric Supply and Tourism
)

20

fe

o

~

Brothers Engineering Service and Trading

d} None of above



15 M x =y =2z and xyz = 256 then what is the value of x?
E. 12 ‘

o m
[

I
8
1

x

6

16. What is the missing number in this series?
8214611714618 12

A.10
B.11
C.8
D.9

17. One dog tells the other that there are two dogs in
front of me. '
The other one also shouts that he too had two behind
him. How many are they? '
A2
B. 4
C.3

D.5

18. Thumb isto hand & Toe is to —

a. Mouth

b. leg /
¢. Finger

d. feet

19. If Airbla nes are to Airport; Ships afe to-

a. \Harbour

b. Terminal

¢. Tarmac

~d. AirField
20. GICEDis

a) Goenka Institute of Custom Engineering and Dispatch

b) Guru India Chamber of Education and Development

€} Garware Institute of Career Education and Development
d) All of above ‘



271, First settiers in Mumbai were

ay Parsi’s
b} Britishers

¢} French
)

oy

Koli’s

2.

22. Mumbai University was established in the Year

a) 1500
b} 1937
¢) 1857
d) 1947

23. Chief Minister of Maharashtra is

a) Ashok RaoChavan
b) Narayan Rane

¢) Prithvi Raj Chavan
d) Sushil Kumar Shinde

24. If 242+2 is 6, then 8+9+10 will be

a) 24
b) 27
- c) 30
d) 33

© 25. Correct spelling of CONSTITUTON is

a)  CONSTUTION
b) CONTITUTION
c) CONSTITUTION
d} None of above

26. The central bahking-functibns in India are performed by the . :

a) Central Bank of India
b) Reserve Bank of India
¢) State Bank of India

d) Punjab National Bank

27. In the last one decade, which one among the following sectors has attracted the highest
foreign direct investment inflows into India?

a) Chemicals other than fertilizers
b) Telecommunication

¢) Services sector

d) Food processing



28. Depriciation of any Machine is

} Due to theft of Machine

b} Loss of Machine due to fair wear and tear with time
)
)

Py

¢} Loss o_f Machine due to fire

Loss of Machine due to flood -

[oN

29. Gadhchiroliis in

} Kerala

} Uttar Pradesh
} Maharashtra
) Punjab

a

o

C

Q.

30. Objective of Foreign Trade Management Course is

a) Toimpart knowledge about Foreign Trade
b} To prepare student for Foreign Service

¢) To preparestudent to start foreign business
d) To prepare student to start Visa service

\ .

31 To which professions earlier leaders who struggled for freedom of India mainly belonged?

a. Lawyers

b. Teachers

c. Journalists

d. All of the above

32. Development expenditure of the Central Government does not include
A a. Defence expenditure _ :
b. Expenditure on economic services*-
¢. Expenditure on social and community services
d. Grantto states.

33. GSM stands-for.
a. bullion market -
b. market of government securities
c. market of guns
d. ‘market of pure metals

34, EDI stands for
a. Electronic Data internet
b. Effected Details in Internet
¢. Electronic Data Interchange
d. None of the above



35.

36.

37.

38.

39.

“40.

41,

National expenditure includes
a. consumption expenditure
b. investment expenditure
¢ government expenditure
d.  All of the above

Subsidies mean
a. payment by government for purchase of goods and services
b. payment made by business enterprises to factors of production
¢. payment made by companies to shareholders
d. payment made by the government to business enterprises, without buymg any goods
and services.

InIndia, inflation is measured by the
a. Wholesale Price Index number
b. Consumers Price Index for urban non-manual workers
c. Consumers Price Index for agricultural workers
d. National Income Deflation

Fiscal Deﬂat in the Union Budget means,
a. the difference between current expenditure and current revenue
_ b. netincrease in Union Governments borrowings from the Reserve Bank of India’
c. \the sum of budgetary deficit and budgetary deficit and net increase in internal and
external borrowings
d. the sum of monetized deficit and budgetary deficit.

BEST stands for- . K
a. Bombay Electronic State transport
b. Bombay Electronic Suppliers & Traders
¢. Bombay Electric Suburban Transpott
d. Bombay Electric State travel
HSD stands.for- ) ' ‘ '

- Highly sensitive Defense-Area
b. High Structural Design
c. High Speed Diesel

d.” None of these
L

Foreign Direct Investment ceilings in the Retail sector have been raised percent to
a. 53 percent v
b. 51 percent
c. 49 percent
d. 28 percent



42. The oath of office is conducted to the president by
a. the speaker of LokSabha

the chief justice of India

the vice-president of India

None of the above

S

43. The office of the prime minister of India
a. restson coronations
b. is created by the Parliament
. iscreated by the constitution
d. ‘Al of the above.

44. The president can be removed from his office before the expiry of his normal term only on the
recommendation of

the Supreme Court

the chief justice of India .

council of ministers

the two houses of Parliament

o0 oo

45. The national anthem was written by
a. Bankim Chandra Chatterjee
b. Rabindranath Tagore
c. Sarat Chandra Chatterjee
d. AurobindoGhosh

L ’

46. The preamble to our constitution provided that India is
a. a sovereign, socialist and-democratic republic
b. a sovereign, socialist, secular and democratic republic
c. asovereign republic with a socialist pattern of society -
d. a socialist, secular and democratic republic.

47. High Tide occurson

Dark Night S .
Full Moon Night

First Day of Month

Last Day of Month

o o w
e

e

48. Duration of Foreign Trade Management Course is
Lo
a) One Year

b} Eighteen Months
¢) Two Years
d) Thirty Months



49. This Years Dada SahebPhalke Award was given to

o

jo N
S

oo
[ntivet

Manoj Kumar
Amitabh Bachhan
Pran

- Rajesh Khanna

50. Highest Gallantry Award is

d

C

Q.

o

)
)

)
)

Vir Chakra
Mahavir Chakra
ParamVir Chakra
Sena Medal




UNIVERSITY OF MUMBAI
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
DIPLOMA IN FOREIGN TRADE MANAGEMENT

ENTRANCE EXAM

DATE : 23-Jun-12 TIME : 11.00AM TO 12.00 NOON  MARKS: 50

Note: 1. Answer to all questions on the Question Paper itself.
2. Place a tick mark or circle the selected answer.

Q.1. What sport is played at Wimbledon?
(a) Tennis, (b) Golf, (c) Snooker, (d) Squash

Q.2. Who amongst the following was appointed as the youngest Chief Minister in a Indian state?
(a) Mayawati, (b) Akhilesh Yadav, (d) Omar Abdulla, (¢) Chandrababu Naidu

Q.3. What country does the football player Romario come from?
(a) Brazil, (b) Argentina, (c) Bolivia, (d) Peru

Q.4. What is the most popular indoor sport in the U.S.A.? B ”L
(a) Basketball, (b) Football, (c) Baseball, (d) Rugby

Q.5 In which sport was Muhammad Ali the world champion?
(a) Boxing, (b) Karate, (c) Sprint, (d) Wrestling.

AQ.6 Which famous golf playér's mother comes from Thailand?
(a) Tiger Woods, (b) Arnold Palmer, (c) Chi Chi Rodiquez, (d) Gary Player

Q.7 Blood is filtered by which pair of organs?
(a) Kidneys, (b) Lungs, (c) Abdomen, (d) None of these

Q.8 Which planet is the fifth from the sun?
(2) Mars, (b) Jupiter, (c) Saturn, (d) Moon

Q.9 Who developed the theory of relativity?
(a) Albert Einstein, (b) Dr. H. Baba, (c) Dr. B. R. AmbedKar, (d) Dr. Radha Krishnan

Q.10 Which chemical element is represented by the symbol N?
(a) Nitrogen, (b) Niterate, (c) Neogen, (d) None of ihése

Q.11 In which organelle of a living cell is DNA found?
(a) Nucleus, (b) Ovary, (c) Membrane, (d) Nosie of these

Q.12 Which travel faster, light or sound waves?
(a) light waves, (b) sound waves, (c) air, (d) water current.

Q.13 Triton is a moon of which planet?-
(a) Neptune, (b) Mars, (c) Jupiter, (d) Pluto.

Q.14 For what process do plants need sunlight, CO2 and water?
(a) Photosynthesis, (b) Regeneration, (c) Dehydration, (d) None of these.



(3.15 Which chemical slement is represented by the symbol Zn?
(a) Zing, (b) Iron, (¢) Platinum, (d) Gold.

(.16 In which organ of the body is the cerebrum found?
(a) the brain, (b} the heart, (¢) the lungs, (d) non of these.

Q.17 Which vitamin is abundant in citrus fruits?
(a) vitamin A, (b) vitamin B, (c) vitamin C, (d) vitamin D.

Q.18 What instrument is used for measuring temperature?
(a) a thermometer, (b) a barometer, (c) a micrometer, (d) non of these.

Q.19. What does NAV stand for?
a. Net Asset Value b. No Available Varriant

c. Null And Void d. None of these.

Q.20 What gas do plants absorb from the atmosphere?
(a) Hydrogen, (b) Nitrogen, (¢) Carbon dioxide, (d) Oxygen.

Q.21 What do we call a shape with eight sides?
(a) octagon, (b) triangle, (c) rectangle, (d) square.

Q.22 What is the study of plants called?
(a) physics, (b) botany, (c) biology, (d) chemistry.

Q.23 Which South American country has the greatest land area?
(a) Ecuador, (b) Brazil, (c) Argentina, (d) Bolivia.

Q.24 What is the capital city of Sri Lanka?
(a) Kandy, (b) Jaffna, (c) Colombo, (d) Ceylon.

Q.25 Which climate is generally hotter and more humid, tropical or temperate?
(a) Tropical, (b) Moderate, (c) Extreme, (d) none of these. :

Q.26 What do we call a mountain which could erupt? o
(2) A earthquake, (b) A voleano, (c) A Cyclone (d) None of these.

Q.27 Antarctica covers which of the earth's poles? o
(2) The south pole, (b) The North Pole, {c) The East Pole, (d) The West Pole.

Q.28 On which continent is Sierra Leone? .
(2) Africa, (b) Gulf, (c) Europe, (d) South America.

Q.29 In which country is Mount Everest?
(a) India, (b) Nepal, (¢) China, (d) Mongolia.

Q,BO Which continent has the biggest population?
{a) Asia, (b) Africa, (¢) South America, (d) North America

Q.31 What is the capital city of New Zealand?
(a) Wellington, (b) Auckland, (c) Christchurch, (d) Dunedin

().32 On which continent is the Sahara desert?
(a) Africa, (b) Gulf] (¢) Asia, (d) South Awmerica.



Q.33 Name the two longest rivers in the world. Amazon?

(a) Nile, {b) Thames, (¢} Ganges, {(d) None of these.

(2.34 Which ocean is to the east of Africa?

(a) Indian Ocean, (b) Arabian Sea, (c) South Atlantic Ocean, (d) Atlantic Ocean.

Q.35 In which country is the world's highest waterfall?

(a) Venezuela, (b) Canada, (c) USA, (d) Brazil.

Q.36 What natural phenomena are measured by the 'Richter scale'?

(a) Cyclones, (b) Volcano, (c) Storms, (d) Earthquakes

Q.37 Which two oceans does the Panama Canal link?

(a) Atlantic-Pacific, (b) South-Atlantic, (¢) North-Atlantic, (d) None of these.

Q.38 What is the capital city of Kenya?

(a) Kisumu, (b) Nairobi, (¢) Marsabit, (d) Mount Kenya.

Q.39 What do we call the line of latitude 23.5 degrees north of the equator?

(a) tropic of cancer, (b) equator, (c) tropic of Capricorn, (d) none of these.

Q.40 In which athletic event is a heavy metal ball thrown?
_ (a) Base ball, (b) Shot put, (d) Rugby, (d) none of these.

I1. Pick out the most effective pair of words from the five given pairs of words to
make the sentence/s meaningfully complete:

1.

¥

Price rise is the of modern world. Prices of essential commodities go on
rising everyday despite the and genuine efforts of government.

a. Value.....directed b. Bane.....professed

c. Destiny.....concerned d. Cruelty:....projected.

e. Damage.....ambitious.

Many managers think of ethics as a questlon of personal , a confidential
matter between individuals and their

a. Scruples.....conscience . b. Convenience.....predilection

c. Bona fied.....surrounding d. Strategy.....families

e. Direction. ... abilities.

As the future of our democracy greatly depends upon the younger generations, let
us _ to inject in them consciousness of the responsibility that on
them.

a. Persuade.....down b. Encourage.....impose c. Postulate. . ...sets

d. Strive.....devolves e. Join...... percolates.

My boss always expects me to drop whatever 'm doing to  to his latest
whim. He never thinks about the problem this ~~ me.

a. Akin....forces b. Cater.....causes c. Confine....directs
d. Accede. ... throws ~e. Consent. ....disturbs



ITI. Against each key word are given four suggested meanings. Choose the word or
- phrase, which is most nearly the same to the key word.

1.

2.

Abroad
Accuse

Compassion

Embrace

Emerge

(a) at home, (b) present,  (c) outside,
(a) exonate, (b) vindicate, (c)absolve,

(a) cruelty,  (b) commiseration,
(d) malignant.

(a) welcome, (b) renounce, (c) spurn,

(a) emanate, (b) disappear, (c) vanish,

sk ok ok skeok sk skesk skokok sk okok skokekok kR okoksk

(d) thoughtful.
(d) impreach.

(c) severe,

(d) disdain.

(d) withdraw.



772010

, (}8?}& sh planet §5 the FRK from the sxm"
S fay Mars, (0) 3119}&*:, {¢) Sanrn, {d) M

ravel faster; Eig}i’z‘ orsound wav
&5, (b) soufid w"nex, {cyair, {d}y



Lig Aottty (RS RRRZEL, (L7 SORGHEEILIEEL (L) LRRHAL

2 dy of plants. eai’_
{8} g‘* s, {5) ?”Gtaﬂy {tﬂ bmk}ew

i“: Ufsm}z c\xxz’é‘""

{a}Aé’ma (b)(.,u}f (C)E(,é;,c,{ti} y : ::'f's'ca;",

Q25 Tnwh iuh country s Mount Ewmest? i
{a} ipdza {b) Nepal, (L y Ching, {d) } Mcnggha.

.30 Wh; h continent hus the bigaest population?
{ay Asla, (b) Afric, (¢} Som;‘vzwzca, {dy. '-erth ’m}&ma

) Dunedin

~

¥ ; is the Sahera deseri?:
{a} Africa, {0} Gulf, (¢} Asla, (dY South America,




aY AclanticPa

sz, {4y None ol

Q.38 1© Tap
C ta) Kisuinu, b 37 ‘»«,a robt fc‘s vi
(.39 What do we call the [ pert of the eguaor?
e H

L _.s_:.‘

‘e, Dariage. ,...ambitious.
':-’\«izmv mmam:rsxhx

_ Asthe future: of our democrag

a. Pexaudae Ao

apr ur’; {H r;ox of the

{".’

>

pair mwerdg frome ihe five given pairs of wvords {6

a..\fal UL, ... ax’et;téé' :
. Destiny.....concerned

rk_ of' azh'iu; ai

& Du'ehi;on. ..abilities.

us to m}eu in thew

wrive. . devolves

My Boss always mpeuts me io mp wima»e; Tmdomgto  to his latest

’He nevai’ fhmz{s abont the problesithis . me
¢ b. Cater... .causes
e. Consent.....disturhs

(8

. Confine.. . directy







- Seat No:

UNIVERSITY OF MUMBAI
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
DIPLOMA IN FOREIGN TRADE MANAGEMENT
ENTRANCE EXAM

DATE : 18 /07/2010 TIME : 11 AM. TO 12 PM. MARKS :50

Note: 1. Answer to all questions on the Question Paper itself.
2. Place a tick mark or circle the selected answer.

Q.1. If you have an appetite of high growth and want to take some risk, which insurance

plan is most suited for you?
a. Money Back Plan b. Market Linked Insurance Plan

¢. General Insurance Plan d. Life Long Endowment Policy.

Q.2. What does NAV stand for?
a. Net Asset Value b. No Available Varriant

¢. Null And Void ' d. None of these.

Q.3. . Pick out the most effective pair of words from the five given pairs of words to
make the sentence/s meaningfully comolete:

1. Just as a well-made brick does nothing when it stands alone, well-mnaged

individuals have usefulness until they are integrated into a
whole.
a. Great...... dedicated b. Superior.....working c. Critical.....superior
d. Minimal.....synergic e. Multiple.....critical.
2. Each person on th eteam must understand and in the team goals and be
to their achievement.
a. Involve...... manifested  b. Commit...... projected
¢. Advocate.....absorbed d. Support.....possessive e. Share.....dedicated.
3. My boss always expects me to drop whatever I’'m doing to to his latest
~ whim. He never thinks about the problem this me.
a. Akin.....forces b. Cater.....causes c. Confine....directs
d. Accede.....throws e. Consent.....disturbs
4. Evenifclouds of sorrow  our lives sometimes, we should not feel
a. Endanger...... encouraged b. Colour.....engulfed
c. Damage.....revamped d. Blinds.....accountable

e. Darken.....depressed



5. Booksnever __ useven when all fair-weather friends have deserted us. They
____________________ _the dark clouds of gloom form our minds and increases our happiness.
a. Desert...... dispel b. Abandon...... agument  c. Destroy.....devalue
d. Corner.... ., distribute e. Irritate...... provoke.

6. Priceriseisthe of modern world. Prices of essential commodities go on
rising everyday despite the and genuine efforts of government.
a. Value... direted b. Bane.....professed
¢. Destiny.....concerned d. Cruelty.... .projected
e. Damage.....amhitious.

7. Friendship is the silken tie of love and which binds two persons. It is
priceless possession of a man who sweetness to life.
a. Affection.....contains b. Kindness.....focuses c. Esteem.....imports
d. Durability.....injects e. Warmth. ....genertes.

8. The one-act play is a form of literture. It is different from drama as it
usually deals with a single dramatic situation and aims at _ a single effect.
a. Distinct....producting b. Peculiar.....introducing  ¢. Short.....attributing
d. Manifest.....developing  e. Profound.....creating.

9. Many managers think of ethics as a question of personal , a confidential
matter between individuals and their
a. Scruples.....conscience b. Convenience.....predilection
c. Bona fied.....surrounding d. Strategy.....families

e. Direction.....abilities.
10. As the future of our democracy greatly depends upo the younger generations, let

us to inject in them conciousness of the responsibility that on
them.

a. Persuade.....down b. Encourge.....impose c. Postulate.....sets
d. Strive.....devolves e. Join...... percolates.

Q.4, Select the correct answer:

1. Who was Kofi Annan?
(a) President of Zambia, (b) A Congo Representative,
(c) A Sri Lankan Vegetable, (d) The UN Secretary General.

2. Who is the first Indian Cricketer to score Five Double Centuries?
(a) Sachin Tendulkar, (b) Sourav Gangualy, (c¢) Verinder Shewag,
(d) Rahul Dravid.

3. Who was the British Governor General at the outbreak of the first war of Indian

Independence in 18577
. (a) Lord Canning, (b) Lord Cannes, (c) Lord David Martin, (d) None of these.

4. On the banks of which river is the Kumbh Mela at Nashik held?
(a) Godhavari, (b) Gomthi, (¢) Ganges, (d) Yamuna.

[\



5. “Tenali Rama’, famous for his wit and wisdom, was a companion of which South
Indian ruler?
(a) Krishnadeva Raya, (b) Raja Harishchandra, (¢) Maurya, (d) none of these.

6. Which of the rulers succeeded the Mauryas in Magadh?
(a) Sungas, (b) Pandavas, (c) Suryas, (d) none of these.

7. Who was appointed as the acting Prime Minister following the demise of Nehru in
May 19647
(a) Gulzarilal Nanda, (b) Indira Gandhi, (¢) Maulana Azad, (d) Zakhir Hussain.

8. Which West Indian Test cricketer was nicknamed t he ‘Black Bradman’?
" (a) George Headley, (b) Carl Hooper, (c¢) Clive Lloyds, (d) Brain Lara.

9. What color does acid turn litmus paper?
(a) Red, (b) Pink, (c) Orange, (d) Green.

10. Which of the Indian film directors has won Oscar awards for direction?
(a) Stayajit Ray, (b) Rakesh Roshan, (c) Subash Ghai, (d) B R‘Chopra.

11. Which of the following Finance Ministers started the process of liberalization in
19917 : ;
(a) Dr. Manmohan Singh, (b) Yashwant Sinha, (c) P Chidambram,
(d) Madhu Dandevate. '

12. What is an ICD?
(a) International Container Depot, (b) Internal Container Depot,
(b) Indian Container Division, (d) None of these.

13. Which of the laws have replaced TADA in Indian Constitution?
(a) MOCCA, (b) POTA, (c) none of these.

14. What is the Origin of Indian Navy’s second aircraft carrier, Virat?
(a) Russian, (b) German, (c) British, (d) American.

15. What is ‘Amnesty International’?
(a) An NGO, (b) Institution to Promote Human Rights, (c) Educational Institute,

(¢) None of these.



9.Against each key word are given four suggested meanings. Choose the word or

phrase, which is most nearly the same to the key word.

I. Abroad

2. Accuse

3. Compassion
4. Embrace
5. Emerge

6. Fragile

7. Gaze

8. Lunacy

9. Languish
10. Zenith

11. Inebriated

12. Indolent
13. Jargon
14. Mediocre
15. Obscene

16. Provident
17. Quaint
18. Rigorous

19. Tarnish
20. Valiant

X

(a)athome, (bypresent,  (c)outside,  (d) thoughtful.
(a) exonate,  (b) vindicate, (c)absolve, (d) impreach.

(aj cruelty,  (b) commiseration, (¢) severe,
(d) malignant,
(a) welcome, (b) renounce, (c) spurn, (d) disdain.

(a) emanate, (b) disappear, (c) vanish, (d) withdraw.
(a) sturdy, (b) tough, (c) frail, (d) hardy.

(a) avert, (b) miss, (c) hide,

(d) look steady.

(a) sanity, (b) aberration, (c¢) argument, (d) mind.

(a) assuage, (b) wither, (c) suppress, (d) rejuvenate.
(a) base, (b) acme, (c) depth, (d) foundation.
(a) temperate, (b) clear-headed (¢) intoxicated,

(d) moderated.

(a) diligent,  (b) slothful, (c) assiduous, (d) supple.

(a) danger,  (b) security, (c) drivel, (d) language.
(a) exceptional, (b) singular, (c) uncommon,(d) average.
(a) decent,  (b) pornographic, (c) untainted,
(d) undefiled.
(a) extravagant,
(d) prudent.

(a) familiar,

(d) customary.
(a) tender (b) melodious, (c) stern, (d) lenient,
(a) discolor, (b) honor, (c) decorate, (d) scrub.
(a) cowardly, (b) timid, (c) audacious, (d) cringing.

(b) prodigal, (c) wasteful,

(b) uncommon, (c) every day,




